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https://towardsdatascience.com/contextual-bandits-and-reinforcement-learning-6bdfeaece72a
https://cloud.google.com/blog/products/ai-machine-learning/how-to-build-better-contextual-bandits-machine-learning-models
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𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟
−1 ∈ ሺ0, ሻ1

61.5 Mbps
28.4 Units

 approximately 52% “useless” energy saving, but only 9% throughput loss. 

𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟



𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟
−1 ∈ ሺ0, ሻ1
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𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟



𝑇ℎ𝑟𝑜𝑢𝑔ℎ𝑝𝑢𝑡

𝑀𝑎𝑥. 𝑇ℎ𝑟𝑜𝑢𝑔ℎ𝑝𝑢𝑡

6
∈ ሺ0, ሻ1





൝
𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟

−1 𝑖𝑓 𝑇𝑃 ≥ 70𝑀𝑏𝑝𝑠

−1 𝑖𝑓 𝑇𝑃 < 70𝑀𝑏𝑝𝑠



Throughput too low 

every now and then

𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟



𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟
−1 ∗

𝑇ℎ𝑟𝑜𝑢𝑔ℎ𝑝𝑢𝑡

𝑀𝑎𝑥. 𝑇ℎ𝑟𝑜𝑢𝑔ℎ𝑝𝑢𝑡
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𝐸𝑛𝑒𝑟𝑔𝑦𝑀𝑜𝑛𝑖𝑡𝑜𝑟
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𝑀𝑖𝑛. 𝐷𝑒𝑙𝑎𝑦

𝐷𝑒𝑙𝑎𝑦
∈ ሺ0, ሻ1
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